
Nombre: Clave De RespuestasDeterminación del valor de la variable para equilibrar ecuaciones

Matemáticas www.CommonCoreSheets.es
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Respuestas

1. 9

2. 5

3. 5

4. 5

5. 7

6. 5

7. 6

8. 9

9. 6

10. 7

11. 4

12. 9

Halla el valor de x.

1) 1x + 26 = -9x + 116

10x = 90

x = 9

2) 69 + 3x = -6x + 114

9x = 45

x = 5

3) 4x + 44 = 74 - 2x

6x = 30

x = 5

4) -12 + 5x = 3 + 2x

3x = 15

x = 5

5) 2x + -1 = 62 + -7x

9x = 63

x = 7

6) 1x + 72 = -8x + 117

9x = 45

x = 5

7) 64 - 5x = -11x + 100

6x = 36

x = 6

8) -2x + 37 = -9x + 100

7x = 63

x = 9

9) 3x + 52 = -5x + 100

8x = 48

x = 6

10) -8 + 5x = 27 + 0x

5x = 35

x = 7

11) 66 + -2x = -11x + 102

9x = 36

x = 4

12) 7 + 3x = 79 - 5x

8x = 72

x = 9
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Modificado

Halla el valor de x.

6 9 5 7 7

5 5 6 9 5

1) 1x + 26 = -9x + 116

10x = 90

x = 9

2) 69 + 3x = -6x + 114

9x = 45

x = 5

3) 4x + 44 = 74 - 2x

6x = 30

x = 5

4) -12 + 5x = 3 + 2x

3x = 15

x = 5

5) 2x + -1 = 62 + -7x

9x = 63

x = 7

6) 1x + 72 = -8x + 117

9x = 45

x = 5

7) 64 - 5x = -11x + 100

6x = 36

x = 6

8) -2x + 37 = -9x + 100

7x = 63

x = 9

9) 3x + 52 = -5x + 100

8x = 48

x = 6

10) -8 + 5x = 27 + 0x

5x = 35

x = 7

Respuestas

1. 9

2. 5

3. 5

4. 5

5. 7

6. 5

7. 6

8. 9

9. 6

10. 7

1-10 90 80 70 60 50 40 30 20 10 0
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